| Efficiency vs Dxy |
> 0.1
<

5 S
L e S A
< A T T
@.08—----%------% ------- R St S ALY UL AR
@ A T T
KT O e A (S S S S S
© : : : : : : : :
0.06 -ttt
008
004 b
003

P 0 A
O
o+

Rati

=
I

098 56-156-10 =5 05 10 15 20 25

TP dxy (cm)

Fit6_T Tnew-fowpt

Fit_TT _NEWdefault_specPLess1-lowpt
Fit EWdefault”specPLess2-lowpt
Fit EWdefault"specPLess3-lowpt

AARAXXA

—a— D

_ —— D

| Efficiencyvs Dz | |—=—1B
—_—D

FiIt_TT_NEWdefault“specPLess4-lowpt
N 0.1 ; ;

0,00 -
L e

o g : : : : :
OB
@) r : : : . .
.07 P : + """"""
O o : : : :
0.06 e s s |

0,08 b L

Y L Tt e

O s R (e

002+ gt A
008
o+ . . .

30 20 -10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


